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Q. No.1. These questions are to be answered in 

one to two lines. Attempt any 6 questions.  

         3*9= 45 
 

A. tUe&e`R;q lead  

Birth-Death Rate. 

B. jk"Vªh; iquokZl dsUnzA 

National Rehabilitation centre. 

C. eeRo esykA 

Motherhood Fair. 

D. ^LojLF;* ls D;k vk’k; gS 

What does 'Health' mean. 

E. jk"Vªh O;kolkf;d izf’k{k.k ifj"kn~ (NCVT) 

National council for vocational 

Training  

F. iks"k.k vkgkj lIrkgA 

   Nutrition food weak. 

G. fxiUV , cqd (Gift a Book)vfHk;kuA 

Gift a book programme. 

H. ou LVkWi lasVj ¼l[kh½ ;kstukA 

one sop centre (Sakhi) Yojna.  

I. e/;izns’k jkstxkj fuekZ.k cksMh 

M.P. Employement generation Body. 

 

 



 

 

 

 
 

J. MhEM fo’ofo?kky;A 

Deemd universities. 

K. e-iz- tudY;k.k ¼f’k{kk izksRlkgu½ ;kstukA 

M.P. Public welfare (Educational 

Promotion) scheme. 

L. tsaMj fjLikWfTlo ctVA 

Gender Responsive Budget. 

M. ikfjokfjd LokLF; ls D;k rkRi;Z gSA 

What does 'Family Health' mean? 

N. yksdys[kk lfefrA 

Public Accounts committee. 

O. 'kajoukn ;kstukA 

Shankhnaad Yojna. 
 

Q.2 Attempt any 10 in 100 words 6*10=60  
y?kqRrjh; iz’u 

 

(A)   e/;izns’k xzkeh.k LokLF; lajpukA 

M.P. Rural health structure. 

 

 

 

 

 



 

 

 

 

 

 

(B)   e/;izns’k [kk?kkUu esa vkRefuHkZj gksus ds ckotwn dqiks"k.k 

tSlh xaHkhj leLFkk vius iSj ilkj jgh gSA vkykspukRed 

ijh{k.k djsaA 

Despite being a self riliant state in food 

grains, the malnutrition is spreading in a 

serious way in M.P. Critically analyse. 

   (C)   lesfdr cky laj{k.k dk;ZØeA 

Integrated child protection Programme 

(D)  fo’o O;kikj laxBu ds oSf’od O;kikj ij izHkko dh ppkZ 

dhft,A 

Discuss the affects of World Trade 

orgnization on global trade. 

(E)   lkekftd :i ls oafpr oxksZ ds fy, e-iz- ljdkj }kjk 

fd;s tk jgs iz;klksa dh ppkZ dhft,A 

Discuss the steps taken by M.P. govt. 

towards socially disadvantaged group. 

(F)  e/;izns’k ljdkj }kjk f’k{kk lq/kkj gsrq fd;s tk jgs iz;klksa 

ds ckotwn fo/kky; NksMus dh nj ,d ugh jgh\ dkj.k 

crk,A 

Even after the steps taken by M.P. govt. 

towards the eductional reform the school 

drop out rate is not declining. Give 

reason. 

 



 

 

 

 

 

(G)   orZeku esa py jgh dksfoM&19 egkekjh us f’k{kk O;oLFkk o 

LokLF; lsokvksa dh fdl rjg izHkkfDr fd;k gSA ijh{k.k 

dhft,A 

Examine, How the present COVID-19 

Pandemic affecting the education system 

and health services.  

(H)   f’k{kk dk vf/kdkjA 

Right to Education. 

(I)   ekSfnzd ,oa foÙkh; uhfr esa foÙk ea=ky; dh Hkwfedk Li"V 

dhft,A 

 Explain the role of ministry of finance in 

Monetary and financial policy.  

(J)   fu%’kUr tu ds dY;k.k gsrq e-iz- ljdkj }kjk fd;s tk 

jgs iz;klksa dh ppkZ dhft,A 

Discuss the steps taken by M.P. govt.  

for the welfare of the disabled peoples. 

(K)   orZeku f’k{kk O;oLFkk ekuo lalk/ku fodkl gsrq mi;qDr 

gS\ vkykspukRed ijh{k.k djsaA  

The curret education system is suitable 

for human resource development. 

critically analyse. 

(L)   e/;izns’k esa lk{kjrk nj de gksus ds dkj.kksa dh ppkZ 

dhft,A 

Discuss, why literacy rate is low in M.P. 

 



 

 

 
 

 

Q.3 Long. Attempt any 3 in 300 words  
nh?kZ mRrjh; iz’u& 

         3*15=45 
 

(A) ubZ f’k{kk uhfr] f’k{kk O;oLFkk ij fdl rjg izHkko MkysxhA 

fo’ys"k.k dhft,A 

How New education policy will affect the 

education system. Analyse. 

(B)  la;qDr jk"Vª esa lq/kkj dh laHkkoukvksa ij fVIi.kh dhft,A 

Comment on possibilities of reforms in 

united Nation. 

(C)  ^^orZeku esa varjk"Vªh; laxBd fodfly ns’kks ;k mkehj ns’kks dh 

rjQ >qds gq;s izrhr gksrs gSA ;g fodklhy ;k vfodfly ns’kks 

ds lkFk vU;k; gSA** okY; dks rZlaxr <ax ls mfpr fl) djsaA 

"At Present, international organization 

appear to be leaning towards devloped 

countries or rich countries, this an injustice 

to devloping or under developed countries." 

Justify the sentence rationally. 

 

 

 

 

 

 



 

 

 

 

 

(D) Hkkjr viuh fo’kky tula[;k ds dkj.k cM+k miHkks.rk ns’k rks 

cu x;k gS ijUrq ,d fo’kky fu;frd ns’k ugh cu ik;kA 

lekykspukRed ijh{k.k djsaA 

India has became a big consumer country 

due to its huge population. but has not 

become a big exporting country. Critical 

Examine. 

(E)  LokLF; laca/kh e-iz- ljdkj dh ;kstukvksa dk o.kZu dhft,A 

Explain about the health related schemes of 

M.P. govt. 
 

 


